TER26FE9HA2HRE

ENZZEARREGEY (RBDEER)

E B R
(BAL : A)
H26.9. 2 BIfEDXBREREEL H26.6.2 & DL

RELIEREZ % L8 7t BERE I
(4) (B) (A-B)
VLT 28 55 83 85 -2
HZE T 0 2 2 2 0
i 7 11 18 19 -1
ERg 7 9 16 16 0
B ZE T 3 9 12 12 0
HEHT 1 0 1 1 0
Ve EHT 0 0 0 0 0
PR 1 0 1 1 0
BRIz o J55 T 3 4 7 7 0
(51 X) 50 90 140 143 -3
I FH T 12 21 33 33 0
HEET 15 30 45 45 0
i FH T 12 19 31 31 0
KHTH 4 14 18 21 -3
AR 53] 6 10 16 16 0
Ergh 3 5 8 8 0
AR EEHT 2 3 5 5 0
JIASHT 1 1 2 2 0
FEHRHT 3 3 6 8 -2
(= T 8 14 22 22 0
EFTILGZ g 2 6 8 8 0
B 1 1 2 2 0
(% 2 [X) 69 127 196 201 -5
S 119 217 336 344 -8




